
                                                ACTIVITY – 7 

Q.2 Mr Roy sells a shirt for Rs 295. How much money will he get if he sells 32 

shirts? 

Sol  : Cost of 1 shirt = 295 

Cost of 32 shirts= 295 x 32  2 9 5  

                                                                                X 3 2 

                                                                                 5 9 0 

                                                          8 8 5 x 

                                                                        Rs 9 4 4 0 

Q-3. The school library has 8 cupboards . Each cupboard has 1055 books. Find 

the total no of books in the library. 

Sol : Books in 1 cupboard = 1055 

Books in 8 cupboards = 1055 x 8 = 8440 books 

Q-6.The weight of 1 book is Rs 1260g. Ravi has seven such books . What is the 

total weight of books . 

Sol : Weight of 1 book = 1260g 

Weight of 7 books = 1260 x 7 = 8820g. 

Q-7.A truck carries 256 bags of rice . If each bag has 32 kg of rice . Find the 

total weight of rice in the truck . 

Sol : Weight of 1 bag = 32 kg 

Weight of 256 bags = 256 x 32 = 8192kg.                      2 5 6 

                                                                                     X    3 2 

                                                                                          5 1 2 

                                                                                       7 6 8 x 

                                                                                      8 1 9 2 

 



 

 

 

 


